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1- Determine whether this statement is "True | 25%1 5 Lt ki oi of g0 i -
or False". Give reasons. s Jlalitt 20
Deep Ecology is based on the principle of | luws le Aicaal! Lon o 9Su¥1 a 453
Respect the value of subjectivity for things. L A1 daiallal s
Statement ( ) ( 13 ylualt)
Reasons: s Jdald
\



2- Answer only (A) or (B)

1(@) 91 (1) e e - Y

A-Man’s freedom is not absolute; some | idlae cewd HLud¥l iy
LgoSond Dl g s Sl g

necessaties control it.

relationships that can’t be separated.

Comment | “bix cée
B- Freedom and Resposnsbility are two | ¥ olas 4d giually am pomdl —o
AW Ge Ledus Juadiy

Comment | <L o cae




3- Commetment of the institutions and | cloecyedipliutt te coipny -¥
organizations for the public occupation work | ot st olasais oletaiatiy
cthic lead to some issues. Prove SEU Gle W1 . ygel Bue Aolall




4- Determine whether this statement is "True | 25%135 jLat las oi 0f g s> - ¢
or False". Give reasons: : Jolad ) 2o
"No harm" is one of the standards of the Modern | , olas sl g3¥1 Glat| pne
Medical Ethics. Auast | acdalt SLE MY
Statement ( ) ( +5ybeatt)
Reasons: + et
¢



5- Answer only (A) or (B) 1(2) 91 (1) oo i -0

A- Mention the Environmental Thinking | & et ,Sati jallas oo e! -
features in the ancient Egyptian civilization. | .aesuat a rwedl s ylias

B- Mention the Environmental Thinking | ,a i1 st saline ol -
features in the ancient Chinese civilization. el Accal | 5 ylias] |




6- Alot of problems are resulted from the human | 3w ¢ it Flucin ¥ e o35 -1
coloning. Discuss three of them e B (B0 S




7- Determine whether this statement is "True | 2.6%135 Lat las o 0l g s> -V
or False". Give reasons. 1At 2
Enhancing performance is one of the benefits of | 45ilsd dl s¥1 & tusi da
the obligation of Profession Codes of Ethics. gl SLAM B gey 1Y
Statement ( ) ( 13 Leall)
Reasons: + Joddah
\4



8- Philosophers have a role in forming and | ,sati sl 3 590 aawaty -A
developing the Bioethical Thinking. -09kaly A5 gud |
Prove by two example | . dlies S




9- Hegel beleives that work 1s a way to free | ;o sl Jdeealt O oty Gy 4
man from the control of the nature. acdali 3 e i fye Glad ¥




10- Determine whether this statement is

"True or False". Give reasons.

The Value of "Right" is the main topic in Ethics.
Statement ( )
Reasons:

3yt s o D90 dd> =\ ¢
sl h pe AGY
k¥ ¢ giis gadl b GmI | Ao
B @lat




11- Determine whether this statement is
"True or False". Give reasons.

In J .S. Mill the Method of Difference 1s based

on the consonant conjunction (Causation)

between the cause and the effect at occurrence.

Statement ( )
Reasons:

Sylaatt Lhas of O goio 3 -\
1 Jlall) pe AGY

U9 e AMA Y 4G b poad

adall ?Jm ‘_,_lc («J—o Q\)‘}-n«:a.w

.J}fa:-..ﬁ‘“_,é Jelaally
( 13 Leal!)
it




12- Answer only (A) or (B) 1(2) 91 (1) oo el =\ ¥
A- Uncanny Logic plays an important role in | 1),y o 31 ,ué taialt ga3 -

the Artificial Intelligence. RIPSLUNPETT IR [P AN
Comment
B- Flexible Logic plays an important role in the | ~ =
Artificial Intelligence. Lols 193 Ot Glatell 43532 ~0

Comment  -u2x<! .ch’da.mY‘ slS.‘.\.Ne,é.




13- Inhis interpretition for the atom, Ruther Ford | atslecti e ay3—28)y aatial -\¥

depends on the Similar Inductive (Analogy) B0 0y (4B A pa Y
method. Prove RETEPRPOI
\Y



14- Determine whether this statement is
"True or False'". Give reasons.

Indefinitons could be ignored in the
Mathematical System.

Statement ( )

Reasons:

Sylaatt Las ) Olgmio Sl -\ £
sdtlail) e 4G
Old e o QAN pe sliaiw ! (4 San
ol udf
( 18 yladt)

+ Juedacd




15- Research Method, in the Modern Scientific | pgiet! 2 comdl Golbo 4 oias -\0

Method, depend on several guiding rules sl i) a8 Sus e palall
(patterns). LAelgd & M

Prove by explaining THREE from these
patterns (three rules) of them




16- Induction is the most important method 1n | atwy eaiskm e slpaiw¥ =\
Bacon for Detection and Invention. RIPCES (PRes-l,
Comment | .ELi y céc




17- Determine whether this statement is | 5l Las oi Ofgo s -\V
"True or False'". Give reasons. s Julaild) pe AG Y
In Carl Hempel, Logic Explanation is based on | JslS» e pewdid é—’é—«-‘ )
two criteria. Ok pulul Gle (Jes
Statement ( ) ( 13 )ylalt)
Reasons: : Judad
v



18- Answer only (A) or (B) 1(@) 91 (1) oo el =\A
A- Put the following proposition in a symbolic | 530 -8 A JLd dcnal| g -
form, then deduct its "Truth -Value" indicating | (3o @8 il @5 A3,

the logical equivalence in it. ilgd alaied!| 3aISIY Livis
- If you travell to Sharm El Sheikh, you will | o8 2gu jeddtp oo 31 & p8L 3
spend a happy time. R IORLE

B- Put the following proposition in a symbolic | je)8)90 o8 AL dundll ps -0
form, then deduct its "Truth -Value" indicating | 321501 Lo g @b il @3
the logical equivalence in it. T alaledt

- Either I study my lessons or I listen to music. | -tamse!! o gaiul 5l gugya 58131 0 Les

A
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19- Sciences differ in their ability to use maths | e Lgijud 2 astatt (ol =14
as a tool for measurement. -l 31518 Crleal 1 A lasi!
Analyse | 3 Lat




20- Determine whether this statement is "True | 5)at Las 5i lguo sl =Y+
or False". Give reasons. it e 5Y

Respectability of the individual privacy is one of

T : A 23 4l | A guastl Al y o |
the negativities of the Information Technology. 1

Ole glaad! L 93 0580 Olcdw

Statement ( ) e

Reasons: ( 15 lalt)
s Judalh






